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Termumformungen

Vergleiche mit der APP Photomath 1
4(x-2) 3(—x-2) 5(—x—-6) 10(x+2)
6(a+4) —-6(a+4) —-6(-a+4) —-6(—a—-4)
(-2)(x+2) (-3)(3x+3) (-8)(3x+12) (-5)(-4x-3)
(-6)(3x+2) (-5)(-3x+3) (-2)(-12-2x) (=7)(4x+9)
1 1 1 1
(54x + 63y ) 3 (24x — 48) p (45x + 27y — 81) > (14x — 49) g
2

(45x + 27y —81):9

(24x +72y—48):9

(36x+60y—24):6

(45a%x + 27ay? — 81ay) : 9a (42xy? + 14x%y? — 35xy) : 7xy (32x3y? + 66xy3 ) : bxy

3
4a’b 32x%yz? 300x%y?z 2 32x%yz?
2ab 20x%yz 60xz 20x%yz
81a’b? 35x2yz? 52x%y?z? 21x%y3z?
27a%b? 20x3y3z 62 x3yz3 7x2y?z3

4
1l4a+2(a-2) 6x +3(x+3) 2x +2(-2-x) 6x +3(x+3)
l4a-2(a-2) 6x —3(x+3) 2x —2(-2-x) 6x —3(x+3)

5

6(a+5)+2(a-2)

6(a+5)-2(a-2)

6(x—1)+3(x+3)

6(x—1)—-3(x+3)

6(x—5)+2(—2—x)

6(x—5)—-2(—-2—x)



